[ Efficiency vs vertpos |

- 0,1: - T T
TS SR N— T —

b4 : : :

U S e
{0174 SEECIETRUEE FUTRRRURTE STR PRI o
o : :

FO0BE e
R S S R
0.04F -+ P B e
N e SR £ ERRCTRRIRRR

0.02F ++eeen- e J[ R

0.0T-+veeeviennenieias ‘# ------------
10 1 M*ﬂﬁiﬂ- 1 I”““i L

Ratio

1

0.5

10 0?
TP vertr (cr%)

[ofeXeXeks:

'éwteIL S
;au>]t-re?fs4
aultNEWTOLDSAMPLE-relf4

Efficienq ——

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05

ettici

Ratio
N

il

0 20 30
TP vert z (cm)

~ 0.02

&
_ o

[

N
IIIIIIIIIIIIIIIIIIIIII

1086 4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


